
MATHS

BOOKS - S CHAND IIT JEE FOUNDATION

POWERS AND ROOTS

Section A Solved Examples

1. Find the value of the expression 

Watch Video Solution

10−1 × 5x−3 × 4x−1

10 × 5x−5 × 4x−2

2. Evaluate 

Watch Video Solution

[(xy)
1− ]

1
y

1
y− 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1wPf5XTbQzDw
https://dl.doubtnut.com/l/_MY16Ubwyeegw


3. Find the value of 

Watch Video Solution

(1296)0.75(36)−1

4. If , then find the value of .

Watch Video Solution

am. an = anm m(n − 2) + n(m − 2)

5.  , then the

value of n is :

Watch Video Solution

÷ = 2n66 + 66 + 66 + 66 + 66 + 66

36 + 36 + 36
46 + 46 + 46 + 46

26 + 26

6. If  , find the value x .

Watch Video Solution

( )
x−1

= ( )
x−3

a

b

b

a

https://dl.doubtnut.com/l/_6nkT8aYIoMNn
https://dl.doubtnut.com/l/_oiwsA8Fdd5t0
https://dl.doubtnut.com/l/_haYRhQAm3G2K
https://dl.doubtnut.com/l/_rz8mVFsvPNyi


7. If 
then the value of 
is
 
b. 
c. 
d. 

Watch Video Solution

5 ( x+3 ) = 25 ( 3x−4 ) , x
5

11

11

5

11

3

13

5

8. If  and , then find the value of

z.

Watch Video Solution

2x = 4y = 8z ( + + ) =
1

2x

1

4y

1

6z

24
7

9.  + 

Watch Video Solution

1

1 + an−m

1

1 + am−n

10. Find the value of 

Watch Video Solution

312+n × 92n−7

35n

https://dl.doubtnut.com/l/_T5flhL52PkeM
https://dl.doubtnut.com/l/_TYeDcN9tk1GK
https://dl.doubtnut.com/l/_COVl6brsCEUm
https://dl.doubtnut.com/l/_3wN4XfkK7Hp0


Section B Square Roots And Cube Roots Solved Examples

1. Find the
 smallest number by which 5808 should be multiplied so that

the product
becomes a perfect square.
(a) 2 (b) 3 (c) 7 (d) 11

Watch Video Solution

2. One-third of the square root of which number is 0.001?

Watch Video Solution

3. What is the value of x in the eqution ?

Watch Video Solution

√1 +√1 − = 1 +
2176
2401

x

7

4. Evaluate the square root of 

Watch Video Solution

0.342 × 0.684
0.000342 × 0.000171

https://dl.doubtnut.com/l/_cVorpphkbq0O
https://dl.doubtnut.com/l/_eiVKEUkI9W9j
https://dl.doubtnut.com/l/_vvLlSD52bvZl
https://dl.doubtnut.com/l/_8MTTeFanZkCu


5. Arrange the following numbers in ascending order :

.

Watch Video Solution

3.5 ÷ 4, √0.64, 0.204 × 4, (0.89)
2

6. The product of two whole numbers is 37. The square
 root of the

difference of the numbers is a. 4.5
b. 6 c. 8 d. 7.5

Watch Video Solution

7. Find the smallest number by which 9000 should be divided so that the

quotient becomes a perfect cube?

Watch Video Solution

https://dl.doubtnut.com/l/_8MTTeFanZkCu
https://dl.doubtnut.com/l/_rRBJKJ91XqdN
https://dl.doubtnut.com/l/_5qvs08cYDL0W
https://dl.doubtnut.com/l/_68T1nyDrCU6M


Section A Question Bank 5 A

8. If the cube root of 132651 is 51, then what is the value of 

Watch Video Solution

3√132.651 + 3√0.132651 + 3√0.000132651

9. If , then find the value of x.

Watch Video Solution

= 3√0.008
√x

√0.0064

10. the value of  is

Watch Video Solution

√ 3√0.000729

1. If m is a positive integer, which of the following is not equal to ?(24)
m

https://dl.doubtnut.com/l/_kyTVK3QAPLPe
https://dl.doubtnut.com/l/_KhhSy1lDi7hn
https://dl.doubtnut.com/l/_Su7qZaW07Uch
https://dl.doubtnut.com/l/_1CabM1Osk4p0


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

24m

42m

2m(23m)

4m(2m)

2. Which of the following is not reciprocal of 
 
(b)


(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: C

( )
4

?
2

3
( )

43

2
( )

−42

3

( )
−43

2
34

24

( )
4

3

2

( )
−42

3

( )
−43

2

34

42

https://dl.doubtnut.com/l/_1CabM1Osk4p0
https://dl.doubtnut.com/l/_7bB6WofBaCKz


Watch Video Solution

3.  is equal to

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

[33 + 32 + 3−2 + 3−3]

36 +
1

36

976
27

35 + 3−5

4. Solve : 

A. 

B. 

C. 

98 .6 × 83 .9 × 724 .4 × 93 .9 × 88 .6 = 72? .

15.1

17.9

20.9

https://dl.doubtnut.com/l/_7bB6WofBaCKz
https://dl.doubtnut.com/l/_bmNdv77x6RWJ
https://dl.doubtnut.com/l/_rGFNPY383n97


D. 

Answer: D

Watch Video Solution

16.9

5. If  find x + y.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ) ÷ ( ) = ax. by,
a−1b2

a2b−4

a3b−5

a−2b3

a4b2

a2b4

a3b2

a2b3

6. The expression  after simplification becomes(p−2xq3y)
6
÷ (p3q−1)

−4x

https://dl.doubtnut.com/l/_rGFNPY383n97
https://dl.doubtnut.com/l/_xccHj0JO2STF
https://dl.doubtnut.com/l/_7SpgKBVIbuix


A. independent of p, but not of q

B. independent of q, but not of p

C. independent of both p and q

D. dependent on both p and q but independent of x and y.

Answer: A

Watch Video Solution

7. The expression  is equal to

A. 

B. 

C. a

D. 1

Answer: C

Watch Video Solution

a {a (a )
4

}
2
3

1
3

1
4

1
4

a
1
2

a
1
6

https://dl.doubtnut.com/l/_7SpgKBVIbuix
https://dl.doubtnut.com/l/_0gWH49bJtCql


Watch Video Solution

8. Evaluate : 

A. 3

B. 9

C. 

D. 

Answer: D

Watch Video Solution

(34)
4
× 96

(27)
7
× 39

1

3

1

9

9. The value of 

A. 

B. 

C. 

+ 2−32n+4 − 2 ⋅ 2n

2.2n+3

2n+1

23

2−3

https://dl.doubtnut.com/l/_0gWH49bJtCql
https://dl.doubtnut.com/l/_SC71xT0Kz6Fb
https://dl.doubtnut.com/l/_kup09zzubLLy


D. 1

Answer: D

Watch Video Solution

10. The expression 
reduces to
 
b. 
c. 


d. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x + )
a .

x −
b

1
y

1
y

(y + )
a .

y −
b

1
x

1
x

( )
a− b

x

y
( )

a− by

x

( )
a+ b

x

y
( )

a+ by

x

( )
a+ by

x

( )
a+ b

x

y

( )
a− by

x

( )
a− b

x

y

https://dl.doubtnut.com/l/_kup09zzubLLy
https://dl.doubtnut.com/l/_7FW9L697gnB1
https://dl.doubtnut.com/l/_pEAkadntCOS0


11. If 
, then find the value of 

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

( )
rx−s

= ( )
px−q

p

q

q

p
x.

q + s

p + r

q + r

q + s

q + r

p + s

12. If  then what is the value of x?

A. 1

B. 2

C. 3

D. 4

(ab−1)
2x−1

= (ba−1)
x−2

https://dl.doubtnut.com/l/_pEAkadntCOS0
https://dl.doubtnut.com/l/_WYJpVX250Uee


Answer: A

Watch Video Solution

13.  is equal to

A. 1

B. 2

C. 

D. 0

Answer: A

Watch Video Solution

( )
t

× ( )
m

× ( )
n

2m

2n

2n

2t

2t

2m

1

2

14. Find the value of x when 

A. 

42x =
1

32

−
5

4

https://dl.doubtnut.com/l/_WYJpVX250Uee
https://dl.doubtnut.com/l/_RGrcpy4OouV1
https://dl.doubtnut.com/l/_lAkV3vqocZQJ


B. 

C. 

D. 

Answer: A

Watch Video Solution

4
5

3

5

5

3

15. If , then x is equal to

A. 0

B. 2

C. 

D. 

Answer: D

Watch Video Solution

2x+4 − 2x+2 = 3

−1

−2

https://dl.doubtnut.com/l/_lAkV3vqocZQJ
https://dl.doubtnut.com/l/_2VQSnuSFrP5X
https://dl.doubtnut.com/l/_xfTxkbN9oc7b


16. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[1 − 2(1 − 2)−1]
−1

1

3

−
1

3

−1

1

2

17. In the expression , the value of x is

A. 3

B. 5

C. 15

D. 7

= 14
2x + 1

(7)−1 + (2)−1

https://dl.doubtnut.com/l/_xfTxkbN9oc7b
https://dl.doubtnut.com/l/_HLe73ZTIAzFZ


Answer: A

Watch Video Solution

18. If  then the value of  is (m  n)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

mn. nm = 800,
n

m
<

1

2

1

5

4
5

5

2

19. If , where a is a positive real number other than 1, then x = ?

A. 

a2x+2 = 1

−2

https://dl.doubtnut.com/l/_HLe73ZTIAzFZ
https://dl.doubtnut.com/l/_0tPRyjQqKjDO
https://dl.doubtnut.com/l/_Zlm5tdZ8bCDX


B. 

C. 0

D. 1

Answer: B

Watch Video Solution

−1

20. If , then  is equal to

A. 3

B. 8

C. 27

D. 216

Answer: C

Watch Video Solution

3x − 3x−1 = 18 xx

https://dl.doubtnut.com/l/_Zlm5tdZ8bCDX
https://dl.doubtnut.com/l/_tPKfQZZMs11x
https://dl.doubtnut.com/l/_tGESO8ECrF9Z


21. If , then y is equal to

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

x11 = y0 and x = 2y

1

2

−1

−2

22. The value of  is

A. 

B. 

C. 

D. 

(5)
0.25

× (125)
0.25

(256)
0.10

× (256)
0.15

√5

2

5

4

25

2

25

16

https://dl.doubtnut.com/l/_tGESO8ECrF9Z
https://dl.doubtnut.com/l/_NcYDkSLawVeQ


Answer: B

Watch Video Solution

23.  is equal to

A. 8532

B. 5832

C. 3852

D. 5238

Answer: B

Watch Video Solution

[32
3

− (32)
3
]

24. If 
then 
is equal to
 
b. 
c. 
d. 

A. 

xy = yx, ( )
x

y

x

y

x
y

x x −1
y

x 1 x
x

y

xx / y

https://dl.doubtnut.com/l/_NcYDkSLawVeQ
https://dl.doubtnut.com/l/_WPoRvTqdQFWA
https://dl.doubtnut.com/l/_FVJ0YlgKHYwQ


B. 

C. 

D. 

Answer: B

Watch Video Solution

x
−1x

y

xy /x

x
y

x− 1

25. If a and b are positive integers such that , then 

is equal to

A. 16

B. 25

C. 28

D. 30

Answer: A

Watch Video Solution

ab = 125 (a − b)a+ b−4

https://dl.doubtnut.com/l/_FVJ0YlgKHYwQ
https://dl.doubtnut.com/l/_dIT3ZQc2ZPuZ


26. Find the value of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(243)0.13 × (243)0.07

(7)0.25 × (49)0.075 × (343)0.2

3

7

7
3

1
3

7

2
2

7

27. If 
, then the value of 
is
 
b. 
c. 
d. 

A. 1

B. 2

( )
x

. x−1

=
9

4

8

27

2

3
x 1 2 3 4

https://dl.doubtnut.com/l/_dIT3ZQc2ZPuZ
https://dl.doubtnut.com/l/_XpbzHwjFtXQY
https://dl.doubtnut.com/l/_weZcFl9vY86F


C. 3

D. 4

Answer: D

Watch Video Solution

28. If , then n equals

A. 0

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

= 27
9n × 35 × 273

3 × (81)4

https://dl.doubtnut.com/l/_weZcFl9vY86F
https://dl.doubtnut.com/l/_8P3OuMkNTdsc


29. Prove that

 .

A. 1

B. pq

C. qr

D. 

Answer: A

Watch Video Solution

+ + = 1, if pqr = 1
1

1 + p + q−1

1

1 + q + r−1

1

1 + r + p−1

1

pq

30. यदि a, b, c धनात्मक वास्तविक संख्याएँ  हैं, तो  का

मान होगाः

A. abc

B. 

C. 

√a−1b × √b−1c × √c−1a

√abc

1

abc

https://dl.doubtnut.com/l/_vWOrOwiLXFBA
https://dl.doubtnut.com/l/_uPjQaynuld6L


Section A Self Assessment Sheet 5 A

D. 1

Answer: D

Watch Video Solution

1. The value of x, if  is

A. 5

B. 

C. 6

D. None of these

Answer: C

Watch Video Solution

2x + 2x + 2x = 192

1

6

https://dl.doubtnut.com/l/_uPjQaynuld6L
https://dl.doubtnut.com/l/_h3KVkytYiX0E
https://dl.doubtnut.com/l/_PCw0CeLuDBQa


2. The value of  is

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

√ + (0.0001)
1 / 2

− (1000)
−2/31

4

1

2

1

4

1

8

3. If  and , the value of  is

A. 

B. 

C. 

D. 

2x = 4y = 8z xyz = 288 + +
1

2x

1

4y

1

8z

11

8

11

24

11

48

11

96

https://dl.doubtnut.com/l/_PCw0CeLuDBQa
https://dl.doubtnut.com/l/_G8awNq5x5rCd


Answer: D

Watch Video Solution

4.  is equal to

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

( 5√ 5√a5)
10

a2

a1 / 5

a5

5. If , then the value of x and y will be

respectively

(4)
x+y

= 1 and (4)
x−y

= 4

https://dl.doubtnut.com/l/_G8awNq5x5rCd
https://dl.doubtnut.com/l/_8hEJx3ypRlb9
https://dl.doubtnut.com/l/_LOuU2t9FS5cX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

and −
1

2

1

2

and
1

2

1

2

− and −
1

2

1

2

− and
1

2

1

2

6. If , then x is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

42x =
1

32

5

4

4
5

3

5

−
5

4

https://dl.doubtnut.com/l/_LOuU2t9FS5cX
https://dl.doubtnut.com/l/_t77B6403ZVTY


7.  is divisible by

A. 31

B. 13

C. 27

D. 33

Answer: D

Watch Video Solution

165 + 215

8. The value of  is

A. 8

B. 7

C. 

[[(2401)−1/2]
−1/4

]
2

1

7

https://dl.doubtnut.com/l/_t77B6403ZVTY
https://dl.doubtnut.com/l/_QGFOWhVgLp2M
https://dl.doubtnut.com/l/_bziTn1ChDtFs


D. 16

Answer: B

Watch Video Solution

9. The number of prime factors in the expression  is:

A. 48

B. 64

C. 72

D. 80

Answer: C

Watch Video Solution

64 × 86 × 108 × 1210

10. The value of  is
3 ( 12+n ) × 9 ( 2n−7 )

35n

https://dl.doubtnut.com/l/_bziTn1ChDtFs
https://dl.doubtnut.com/l/_tTE1EGENwWRg
https://dl.doubtnut.com/l/_Av1B8ptSt2hT


Section B Square Roots And Cube Roots Question Bank 5 B

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

3

9

13

1

9

2

3

1. The value
of 
 is
 (a) 4 (b) 6 (c) 8

(d) 10

A. 4

B. 6

C. 8


⎷10 + √25 +√108 + √154 + √225

https://dl.doubtnut.com/l/_Av1B8ptSt2hT
https://dl.doubtnut.com/l/_U7MlaAVxjToe


D. 10

Answer: A

Watch Video Solution

2. If 
, then the
value of 
is
(a)
0.1764 (b) 1.764 (c) 1.64

(d) 2.64

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√x + √441 = 0. 02 x

1.64

2.64

1.764

0.1764

https://dl.doubtnut.com/l/_U7MlaAVxjToe
https://dl.doubtnut.com/l/_3yoxYPyUfmbV


3.  is equal to:

A. 7

B. 

C. 

D. 

Answer: A

Watch Video Solution

√ +√
0.49

0.25

0.81

0.36

2
9

10

7
9

10

9
9

10

4. Simplify : 

A. 

B. 

C. 

D. 

√0.0025 × √2.25 × √0.0001

0.00075

0.0075

0.075

0.75

https://dl.doubtnut.com/l/_IWhVXN86klmg
https://dl.doubtnut.com/l/_hodNMOhLglHh


Answer: A

Watch Video Solution

5. Given that , find the value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√1225 = 35

√12.25 + √0.1225 + √0.001225

0.3885

388.5

38.85

3.885

6. The square root of  is :0. 4̄

https://dl.doubtnut.com/l/_hodNMOhLglHh
https://dl.doubtnut.com/l/_XYH21YGhBo1D
https://dl.doubtnut.com/l/_1GfgYNHdypN4


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0. 8̄

0. 6̄

0. 7̄

0. 9̄

7. If , then x equals

A. 1

B. 11

C. 13

D. 7

Answer: C

Watch Video Solution

√1 + =
25

144

x

12

https://dl.doubtnut.com/l/_1GfgYNHdypN4
https://dl.doubtnut.com/l/_6phLeZylFOBP


8. Of the numbers 0.16, , the least number is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√0.16, (0.16)
2
and 0.16̄

(0.16)
2

√0.16

0.16

0.16̄

9. 1008 divided by which single digit number gives a perfect square?

A. 9

B. 4

C. 8

https://dl.doubtnut.com/l/_6phLeZylFOBP
https://dl.doubtnut.com/l/_gi3FI008Lbdj
https://dl.doubtnut.com/l/_OpCXou31jQXX


D. 7

Answer: D

Watch Video Solution

10. Find the smallest natural number by which 980 should be multiplied

to make it a perfect square.

A. 7

B. 5

C. 3

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OpCXou31jQXX
https://dl.doubtnut.com/l/_zFS5x8TxiIHE


11. Simplify 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3√ ×
1

8

125

64

5

8

375
512

2
1

2

15
5

8

12. Find the value of 

A. 3

B. 5

C. 7

D. 9

3√√441 + √16 + √4

https://dl.doubtnut.com/l/_MvCaaFpXZ6vL
https://dl.doubtnut.com/l/_rRu99NYK55VG


Answer: A

Watch Video Solution

13. Simplify 

A. 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

√ 3√0.000729

0.9

0.3

0.09

14. Simplify 

A. 7

÷ × 3√125
3√8

√16

√100

√49

https://dl.doubtnut.com/l/_rRu99NYK55VG
https://dl.doubtnut.com/l/_9tfpDPqTRw5z
https://dl.doubtnut.com/l/_IGY1YyzuXa6s


B. 

C. 

D. 

Answer: B

Watch Video Solution

1
3

4

7
100

4
7

15. If 
 , the value
 of 
 is
 (a)
 0.544 (b) 1.333 (c) 1.633 (d)

2.666

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√24 = 4. 899 √
8

3

0.544

2.666

1.633

1.333

https://dl.doubtnut.com/l/_IGY1YyzuXa6s
https://dl.doubtnut.com/l/_q9w1CIyzqEs3


16. If , then the value of  is

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

√6 = 2.55 √ + 3√
2

3

3
2

4.48

4.49

3.71

17. What should
come in place of both the question marks in the equation


.
(a) 12 (b) 14 (c) 144 (d) 196

A. 12

B. 14

C. 144

=
?

√128

√162

?

https://dl.doubtnut.com/l/_q9w1CIyzqEs3
https://dl.doubtnut.com/l/_YwR1CWliHZBh
https://dl.doubtnut.com/l/_irr7D2NqgP7y


D. 196

Answer: A

Watch Video Solution

18. What number
should be divided by 
to give the
result as 25?
(a)

12.5 (b) 25 (c) 50 (d) 125

A. 25

B. 50

C. 12.5

D. 125

Answer: C

Watch Video Solution

√0. 25

https://dl.doubtnut.com/l/_irr7D2NqgP7y
https://dl.doubtnut.com/l/_L84pEayltr9S


19.  is equal to

A. 21

B. 18

C. 7

D. 3

Answer: C

Watch Video Solution

3√333 + 3√987 + 3√2197

20. if  and  then the value of  will be :

A. 36

B. 24

C. 16

D. 9

√ +√ =
x

y

y

x

10

3
x + y = 10, xy

https://dl.doubtnut.com/l/_ZzFeUnJcCf5d
https://dl.doubtnut.com/l/_SjoBe3cArbbD


Answer: D

Watch Video Solution

21. The sum of the squares of 2 numbers is 146 and the square root of

one of them is . The cube of the other number is

A. 1111

B. 1221

C. 1331

D. 1441

Answer: C

Watch Video Solution

√5

22. If  is added to the square of a number, the answer so obtained is

1808. What is the number?

(28)2

https://dl.doubtnut.com/l/_SjoBe3cArbbD
https://dl.doubtnut.com/l/_pcK9LDXNgJpz
https://dl.doubtnut.com/l/_tDXDbFzEaCPB


Section B Square Roots And Cube Roots Self Assessment Sheet 5 B

A. 34

B. 26

C. 36

D. 32

Answer: D

Watch Video Solution

1. 

A. 

B. 

C. 

D. 

√ +
16

36

1

4

2

5

1

3

5

6

7
6

https://dl.doubtnut.com/l/_tDXDbFzEaCPB
https://dl.doubtnut.com/l/_d68hojBh3TtE


Answer: C

Watch Video Solution

2. A decimal number has 16 decimal places. The number of decimal places

in the square root of this number will be

A. 2

B. 4

C. 8

D. 16

Answer: C

Watch Video Solution

3. The value of  is
5

√0.0025

https://dl.doubtnut.com/l/_d68hojBh3TtE
https://dl.doubtnut.com/l/_IE6Ws0KFd8Qk
https://dl.doubtnut.com/l/_FXGYIi9NXdeO


A. 

B. 5

C. 100

D. 50

Answer: C

Watch Video Solution

1

5

4. What is the value of 

A. 

B. 

C. 

D. 

Answer: D

√7.84 + √0.0784 + √0.000784 + √0.00000784

3.08

3.108

3.1008

3.1108

https://dl.doubtnut.com/l/_FXGYIi9NXdeO
https://dl.doubtnut.com/l/_dAXQZeW6xEpx


Watch Video Solution

5. The ratio of three numbers is  and the sum of their squares is 

. The sum of three numbers is

A. 60

B. 90

C. 30

D. 50

Answer: A

Watch Video Solution

3: 4: 5

1250

6.  is equal to :

A. 

B. 44211

(225)
0.2

× (225)
0.3

(225)
0.8

× (225)
0.2

1

15

https://dl.doubtnut.com/l/_dAXQZeW6xEpx
https://dl.doubtnut.com/l/_SBHELgSfylVj
https://dl.doubtnut.com/l/_iCsggdVzYumW


C. 44221

D. 

Answer: A

Watch Video Solution

1.5

7. Given that , then 


 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√24025 = 155

√240.25 + √2.4025 + √0.024025 + √0.00024025

16.2205

16.2402

17.2205

155.2205

https://dl.doubtnut.com/l/_iCsggdVzYumW
https://dl.doubtnut.com/l/_KAGxfLVkXcVw
https://dl.doubtnut.com/l/_tthgn0wtjm4H


8. The number of integral values of x if the following statement is valed?

A. 19

B. 20

C. 22

D. 21

Answer: D

Watch Video Solution

0 ≤ x2 ≤ 100

9. Sum of digits of the smallest number by which 1440 should be

multiplied so that it becomes a perfect cube, is

A. 4

B. 6

C. 7

https://dl.doubtnut.com/l/_tthgn0wtjm4H
https://dl.doubtnut.com/l/_GtpUXp8RvpKg


D. 8

Answer: B

Watch Video Solution

10. First find the number in place of P in the following number series and

then find the value of the expression given after the series. 

 


The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

188 186 P 174 158 126

√P − 13

14.03

14.10

13.00

13.67

https://dl.doubtnut.com/l/_GtpUXp8RvpKg
https://dl.doubtnut.com/l/_nCzIYBpteWuI


Unit Test 1

1. Simplify : 

A. 1

B. 

C. 0

D. None of these

Answer: A

Watch Video Solution

( )
a2+ b2+ ab

× ( )
b2+ c2+ bc

+ ( )
c2+a2+ ca

xa

xb

xb

xc

xc

xa

−1

2. Which one of the following is correct? The number 222222 is :

A. divisible by 3, but not divisible by 7

B. divisible by 3 and 7, but not divisible by 11

C. divisible by 2 and 7, but not divisible by 11

https://dl.doubtnut.com/l/_x6NaUfNm3KTt
https://dl.doubtnut.com/l/_eX5D0THrz3tq


D. divisible by 3, 7 and 11

Answer: D

Watch Video Solution

3. In a division operation, the divisor is 5 times the quotient and twice the

remainder. If the remainder is 15, then what is the dividend?

A. 175

B. 185

C. 195

D. 205

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_eX5D0THrz3tq
https://dl.doubtnut.com/l/_BmWP3nfK09pG


4. LCM of two numbers is 16 times their HCF. The sum of LCM and HCF is

850. If one number is 50, then what is the number?

A. 800

B. 1200

C. 1600

D. 2400

Answer: A

Watch Video Solution

5. Find the
value of 
.

A. 

B. 

C. 

√
0. 289

0. 00121

1.7
11

0.17
11

17
110

https://dl.doubtnut.com/l/_bhnnyXWKjjnw
https://dl.doubtnut.com/l/_6oGXRFOLD120


D. 

Answer: D

Watch Video Solution

170
11

6. Consider the following statements : 

A number  is divisible by 9 if 


1.  is divisible by 9 


2.  is divisible by 9 


Which of the above statements is/are correct?

A. 1 only

B. 2 only

C. Both 1 and 2

D. Neither 1 nor 2

Answer: A

Watch Video Solution

a1a2a3a4a5

a1 + a2 + a3 + a4 + a5

a1 − a2 + a3 − a4 + a5

https://dl.doubtnut.com/l/_6oGXRFOLD120
https://dl.doubtnut.com/l/_mE0ImbHzIkye


7. A bell rings every 5 seconds. A second bell rings every 6 seconds and a

third one rings every 8 seconds. If all the three rings at the same time at

8.00 a.m., at what time will they all ring together next?

A. 1 minute past 8.00 a.m.

B. 2 minutes past 8.00 a.m.

C. 3 minutes past 8.00 a.m.

D. 4 minutes past 8.00 a.m.

Answer: B

Watch Video Solution

8. if  then the value of  equals:

A. 

B. 4

4x − 4x−1 = 24 (2x)x

(5)3 / 2

https://dl.doubtnut.com/l/_mE0ImbHzIkye
https://dl.doubtnut.com/l/_ywqH1gQYAmWe
https://dl.doubtnut.com/l/_C177s8TzHGFv


C. 

D. 

Answer: C

Watch Video Solution

(5)5 / 2

1

5

9. The first twenty natural numbers from 1 to 20 are written next to each

other to form a 31 digit number

. What is the remainder when this number is divided by 16?

A. 0

B. 4

C. 7

D. 9

Answer: A

W t h Vid S l ti

N = 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 1

https://dl.doubtnut.com/l/_C177s8TzHGFv
https://dl.doubtnut.com/l/_XUG6Pqh1DK0b


Watch Video Solution

10. x, y and z are the natural numbers. Which of the following statements

is true? 

I. If x is divisible by y and y is divisible by z then x must be divisible by z. 

II. If x is a factor of y and z, then x must be a factor of y + z. 

III. If x is a factor of y and z, then x must be a factor of .

A. I, II and III

B. I only

C. I and II

D. II only

Answer: C

Watch Video Solution

y

z

https://dl.doubtnut.com/l/_XUG6Pqh1DK0b
https://dl.doubtnut.com/l/_oboNRyqBx1rw


11. The number of prime factors in 

 is

A. 33

B. 37

C. 52

D. None of these

Answer: D

Watch Video Solution

( )
12

× (8)25 × ( )
15

1

6

3

4

12. The value
of 
is
 
(b) 
(c) 
(d) 2

A. 2

B. 1

C. 

×
2

3

3

÷  of 15
6

2
3

1
4

1
2

2

3
1

1

2

https://dl.doubtnut.com/l/_xI4RhUg0R4Kz
https://dl.doubtnut.com/l/_F0n5wg5P9exn


D. 

Answer: A

Watch Video Solution

2

3

13. If , then the value of  will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( )
3y

= 0.008
1

5
(0.25)y / 2

1.00

0.5

0.25

0.125

14. Simplify : [ 3√ 6√59]
4

[ 3√ 6√59]
4

https://dl.doubtnut.com/l/_F0n5wg5P9exn
https://dl.doubtnut.com/l/_8klobvmfTmC0
https://dl.doubtnut.com/l/_biUq6NFT4A3m


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

52

54

58

512

15. The value of  is

Watch Video Solution

0.17̄

16. The least values of x and y so that 7x342y is divisible y 88 are

A. 4, 4

B. 4, 3

C. 5, 6

https://dl.doubtnut.com/l/_biUq6NFT4A3m
https://dl.doubtnut.com/l/_TNIx3SFRqAc9
https://dl.doubtnut.com/l/_dsuU65pdtayH


D. 6, 7

Answer: A

Watch Video Solution

17. The total number of 8 digit numbers is

A. 9000

B. 9,00,000

C. 9,00,00,000

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dsuU65pdtayH
https://dl.doubtnut.com/l/_di0ViVT96IzC


18. If X, Y are positive real numbers such that  and A is any positive

real number, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X > Y

≥
X

Y

X + A

Y + A

>
X

Y

X + A

Y + A

≤
X

Y

X + A

Y + A

<
X

Y

X + A

Y + A

19. Assertion (A) : The number 90356294 is divisible by . 

Reason (R ) : A number with an even digit in the units place is always

divisible by .

A. both A and R are true and R is the correct explanation of A

B. both A and R are true but R is not the correct explanation of A

4

2

https://dl.doubtnut.com/l/_qVE2RoR91oia
https://dl.doubtnut.com/l/_o1ib6UlLTK32


C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

20. Given two different prime numbers P and Q, find the number of

divisors of PQ.

Watch Video Solution

https://dl.doubtnut.com/l/_o1ib6UlLTK32
https://dl.doubtnut.com/l/_6gqDiZxrJh5y

